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QUESTION 1

What is the consequence of a loss of connectivity between a Cloud Volumes ONTAP (CVO) instance and Cloud
Manager for four or more days? 

A. The CVO instance sends an AutoSupport message. 

B. The CVO instance must be added back manually to Cloud Manager. 

C. Cloud Manager removes the CVO instance from its inventory. 

D. The CVO instance is stopped. 

Correct Answer: C Section: (none)

 

QUESTION 2

You received the "CLUSTER ERROR: DISK/SHELF COUNT MISMATCH" AutoSupport message from an ONTAP
cluster. 

When analyzing this message, which two should be inspected? (Choose two.) 

A. drive paths 

B. IOM firmware 

C. drive firmware 

D. SAS cabling 

Correct Answer: AC Section: (none) 

 

QUESTION 3

After a network card was replaced in an ONTAP node, you see the output shown in the exhibit. 
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What is the problem? 

A. The interface group is configured in single mode. 

B. One physical port is not cabled. 

C. One physical interface is broken. 

D. One physical interface is mis-cabled. 

Correct Answer: D Section: (none) 

 

QUESTION 4

You are asked to replicate 15 of 20 volumes and the network configuration of your storage virtual machine to your other
data center. 

In this scenario, which NetApp technology should you use? 

A. SnapMirror Synchronous 

B. SVM DR 

C. MetroCluster 

D. SVM peering 

Correct Answer: A Section: (none)

NS0-194 Practice Test | NS0-194 Study Guide | NS0-194 Braindumps                                3 / 4

https://www.leads4pass.com/ns0-194.html
https://www.leads4pass.com/ns0-194.html
https://www.leads4pass.com/ns0-194.html


https://www.leads4pass.com/ns0-194.html
2024 Latest leads4pass NS0-194 PDF and VCE dumps Download

Reference: https://www.netapp.com/pdf.html?item=/media/19369-tr-4832.pdf 

 

QUESTION 5

You perform a security trace when troubleshooting a data access problem for a user. The results are shown in the
exhibit. 

What should you do to solve this issue? 

A. Grant the user Read Attributes access to the path. 

B. Add the user to the BUILTIN\power Users group. 

C. Add the user to the BUILTIN\Users group. 

D. Grant the user Execute access to the path. 

Correct Answer: A Section: (none) 

Reference: https://www.reddit.com/r/netapp/comments/dm90iv/change_ownership_failing/ 
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